

Penthouse in St Paul's Bay



St Paul's Bay, North



€650,000

Reference No: 240151029-998

Total Rooms: 5

Floor Area (m²) : 113

Bathrooms: 2

Bedrooms: 1

Penthouse - For Sale - St Paul's Bay

St. Paul's Bay - Penthouse forming part of a new block which is currently being built and to be completed by December 2026. Property consists of an open plan kitchen/living/dining, one double bedroom with an en- suite, main bathroom, study room, terrace and roof terrace with swimming pool. Being sold finished including bathrooms, doors, A/C's and soffits. Optional garages available at an extra cost. Freehold

Features

- ✓ Lift
- ✓ En Suite
- ✓ A/C
- ✓ Pool
- ✓ Roof Terrace

Rooms

- ✓ Kitchen/Living/Dining : 8 x 4.19 m (33.52 m²)
- ✓ Double Bedroom : 5.38 x 3.1 m (16.68 m²)
- ✓ Bathroom Ensuite : 1.76 x 2.8 m (4.93 m²)
- ✓ Bathroom : 1.76 x 1.87 m (3.29 m²)
- ✓ Office / Study : 3 x 3.6 m (10.8 m²)
- ✓ Open Space : 10.89 x 3 m (32.67 m²)
- ✓ Open Space : 7.79 x 11.49 m (89.51 m²)

Gallery







Kurt Psaila Montefort

RE/MAX Edge - Attard

M: 99009198

E: kpm@remax.com.mt

T: 21480164

RE/MAX Edge - Attard

4Trik Antonio Schembri, Attard, Malta